
 

NUMBERS – EXERCISES 
ČÍSLOVKY – CVI ČENÍ 

 
 
 

1. Look at the map and answer the questions 
 
 
 
                                                                                                       Ostrava 

                           341km                                     
 

 317km 234km 279km 

                         178km 

                                                             Třebíč   182km  

                                                                                                             Bratislava 

 

A. Go from Prague to Ostrava, and then to Třebíč. How far is it? 
B. Go from Třebíč to Bratislava, and then to Ostrava. How far is it? 
C. Go from Bratislava to Ostrava, and then to Prague. How far is it? 
D. Go from Ostrava to Prague, and then to Bratislava. How far is it? 
E. Go from Třebíč to Prague and back. How far is it? 
F. Go from Bratislava to Ostrava and back. How far is it? 
G. Go from Bratislava to Prague and back. How far is it? 
H. Go from Třebíč to Bratislava and back. How far is it? 



I.  Go from Ostrava to Prague and back. How far is it? 
 

2.Write the missing symbols 
 
 
      1.     78            -              18                =          60 

2.     12                            8                 =           96 
3.      35                            5                 =             7 
4.     135                           9                 =            15 
5.      98                            65               =            33 
6.      63                            19               =            82 
7.       9                               8                =            72 
8.     139                            89              =             50 

 

 

3.Count the numbers 
 
 
1.      19          x              13            = 
2.     117         :               9              = 
3.      365        +            187            = 
4.      983        -              496           = 
5.        18        x               11           = 
6.      208        :                 8            = 
7.      397        +             988           = 
8.     2987       -             1345          = 

 

4.Count the numbers and write the answers 
 
 

1.five hundred and forty-seven plus one thousand, eight hundred and twenty-two 
 
 
2.two millions, six thousand and thirty-six minus fifty-seven thousand and nine 

 
 
 
      3.twenty-six thousand dividend by two 

 



4.seven hundred and seventeen times eleven 


